Example of Possible Type ot Atennuator

- WAVE DIRECTION

/— CABLE TO CONCRETE ANCHOR, TYP.

FLEXIBLE CONNECTORS

WOOD DECKING BOTH SIDES OF WINCH LOCATIONS { 7 ) REQUIRED
2 PER SECTION
PLAN VIEW
10' WIDE WAVE ATTENUATOR
(1)80'SECHON&(7)88'SEC'I'IONS
NO. REVISION DESCRIPTION BY | DATE m“w“;mm:"‘m“m mﬁm‘" Atlantic Meeco |omwne:_pew FILENAME:  7627-1 DeGRAY LAKE STATE PARK

CHECHED BY:

THE MARINA COMPANY

JoB# 105719

PLAN# 7627

may
without specific written | 1501 E. ELECTRIC AVE. Phone: (918) 4236833

H . oy . e, \] "
authorization is elritly forbidden. MCALESTER, OKLAHOWA, USA 74501 __Fox: (316) 423-3z15 | STALE: 1'~50-0

DATE: 11/30/10

SHEET 1

DeGRAY LAKE, AR



djaques
Typewritten Text
Example of Possible Type of Atennuator

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text

djaques
Typewritten Text


18" CABLE TURNBACK AND
3 STAINLESS STEEL CABLE CLAMPS

5/8" STANLESS CABLE THIMBLE
5/8" STANLESS STEEL SCREW PIN ANCHOR SHACKLE

EXTEND ROD APPROX. 5" OUT
OF CONCRETE

EMBED ANGLE IN

5/8" ¢ STANLESS STEEL (IWRC)
CABLE TO WiNCH

CONCRETE BLOCK ANCHOR

USE APPROX. 2 1/2 YARDS OF
CONCRETE FOR 10,000§ ANCHOR
APPROX. SIZE IS 5’ x 5" x 2'-9"

ISOMETRIC VIEW

(NOT TO SCALE)
WAVE DIRECTION ——— 10
- - — — — — - ﬁ — — — - — 418 NORMAL HIGH WATER
STANLESS STEEL CABLE - T
CBLE LEWGTH WRES~ - ——
" T~
. - - T
- /~LAKE BOTTOM —.
CONCRETE ANCHOR BLOCK /
SEE DETAL ABOVE CABLE PROFILE
CONFORYSTOCONSTRUCTONRECORES
JOB #10:5719 DATE 0324/
Note: This document contoins proprietary information of X 3 ®
No. REVISION DESCRIPTION BY | Date |l ' | DRAWNBY: DPW |FLENAME 7627-3
o e e oo | Atlantic €59 Meeco _DPw MEWE 7273 | neGRAY LAKE STATE PARK
to monufocture, use, or sell omything % may describe. THE MARINA COMPANY CHECKED BY: RAY LAKE. AR
ot s ity ot | e Uk Tt o o) 4o | seale: 17 = 200" |oaTE: 12/04/10[sHEET 3 DeG '




10" OVERALL WIDTH

3' WIDE FRAME

4 WIDE FRAME

3’ WIDE FRAME

=~
1
7

ADDITIONAL INTERNAL
BRACING AT WINCH

LOCATIONS -\

~

\ 2 SPEED GEARED WINCH

- WINCH PEDESTAL

5/8" DIAMETER A325 GALV. HEX HD BOLTS
WITH LOCKING NUTS ON ALL FRAME JOINTS
SIDE TO SIDE AND END TO END CONNECTIONS

17 1/27 DEEP DOCK FRAME:

3" x 3 x 3/16" TOP AND BOTTOM SIDE CHORD ANGLES

3" x 3" % 1/4” ANGLE WHERE BOLTED END TO END

ALL INTERNAL BRACING 2" x 2 x 3/16” ANGLE, EXCEPT NOTED

s,
I
%
e WATER SURFACE i
/! i
11/27x 1 1/2" x 3/16" DIAGONAL ANGLES - —?
: / - . TOPMEW
POLYETHYLENE ENGASED FLOAT ., 2" SCHD. 80 PIPE
- > 1/ Ee
' 3/4° THISTED CLEVIS \ %
- ~ ——
(2) PER CONCRETE PANEL WINGH FARLEAD 5
_ (CLE e . £ SECTION
w
3/4 DWIETER FOD \ CABLE GUIDE
- FOR CONCRETE PANEL
/ ATTACHMENT
’ »
- 5/8° S5, CABLE
REINFORCED CONCRETE PANEL ~
/ 4 THCK x 7'-8" LONG (DEPTH VAREES)
mﬁc%fﬂeeﬁ‘a
THE MARINA CO%DAN; ?’
© HeerTous casericn
T G, A3 NOTED
4——-!»4. NOTED AND RESUMT
REVISION DESCRIPTION By | parg ffols: This document conlains propristary informalion of DRAWNBY.  JDW. [FLENAME 7627-2
Mlactic—My fne. fis it does not
oy %;mmm Sams.| Adantic Meeco =22 5 ot Jums 5] DEGRAY LAKE STATE PARK
) THE MARINA COMPANY 4
Remdwhon. ﬁmﬁ o e, without specific witten e A o TS E::gi 123033 SCALE: 3/4"=1'0" | DATE: 41/8/10|HETT 2 DeGRAY LAKE, AR




l_WAVF. DIRECTION

599'-3"
56' 9’ 96' 96’ 96’ 96' 56'
56 s , ] @ , @ ® , % s , I 48 . 3 56'
WW2-2 WW3-3 ' WW3-4 WH3-5 | WW3-5 WW3-7 | WW3-8 WW3-9 ‘ WW3-10 WW3-11 WW3-12 WN2-14
N ¥ %% € & € 4 ¥ & W& ¥ & ¥ 48 ¥ 8 W& 8 WY ©
N N2 N N N N N N N % N N4 7
N Pl X s X X X Pt % et % Pt .
- ™ T T 1) T - . . . = . -
2::-.%{ I Dﬁj.,“'.“'! — ] L i~ 7 o
S - . // %?goﬁgggam N Ve N X \\ /x S 5\.\
‘ X g - g - "\~ BELTED CONNELTOR {6) PLACES® ‘ X
As N oY 45 Y %5 o Vs 6 XS, Lig Lo
51"-6" 9% 48 9-% 48 49-% 53-%%" 4@ 49-% 48 49-2% 52
\— APPROXIMATE LOCATION OF LIGHTS
Note: This document contains proprietary information of 2 3
NO. REVISION DESCRIPTION By | pare [Nt ; ] s DRAWN BY: FILE NAME:
fime-lee i el T it | Afilantic €55 Meeco CURECANTI NRA - ELK CREEK
o s o, o o aing B oy i CHECKED BY: JoB # PLAN #
o n%%mm 1801 € ELECTRG AIE, . Phane: (918) 4Z5-8833 GUNNISON, CO
uborzation s sty Toriddn MCALESTER, CKLAHOWA, USA 74001 Foe (918) 423-3215 | SCALE: 1" = 40%-0" | DATE: SHEET ’




10’ OVERALL WIDTH

3 WIDE FRAME 4 WIDE FRAME 3 WDE FRAME
ADDITIONAL INTERNAL 2 SPEED GEARED WINCH
BRACING AT WINCH

N
N~ WINCH PEDESTAL

S

5/8" DAMETER A325 GALV. HEX HD BOLTS
WITH LOCKING NUTS ON ALL FRAME JOINTS
SIDE TO SIDE AND END TO END CONNECTIONS

17 1/2° DEEP DOCK FRAME:

3" x 3" x 3/16° TOP AND BOTTOM SIDE CHORD ANGLES
3" x 3" x 1/4" ANGLE WHERE BOLTED END TO END
ALL INTERNAL BRACING 2° x 2° x 3/16" ANGLE, EXCEPT NOTED

o0 (‘\ oo

/7T X 0 /7 ° /
N\ {8l
= T
1 1 %
- - WATER SURFACE
»
11/2° x 1 1/2" x 3/16" DIAGONAL ANGLES -
L
POLYETHYLENE ENCASED FLOAT _ o
_ / 3/4 TWSTED CLEVSS \ -
(2) PER CONCRETE PANEL WINCH FARLEAD
- P . % SECTION
k)
3/4" DUNETER ROD \ CABLE GUIDE
- FOR CONCRETE PANEL ~
ATTACHMENT
/ 5/8" GALVANIZED (6X19) MRC \
CABLE TO ANCHOR REINFORCED CONCRETE PANEL
/ £ THCK x 7'-8" LONG (DEPTH VARIES)
,I_L‘f,
NO. REVISION DESCRIPTION gy | pate |Note: s document containe proprietory information of s DRAWNBY:  JDW. |FLENAME  7418H-2
Mt b b ot i v | Atlanitic €3 Meeco
e oy skl 1o rpruduce, Sacase W oxfrks, or CHECKED BY: 10B# PLAN# 7448H GSA STANDARDS
& nmnfnchn.’ b may describe. THE MARINA COMPANY ATTENUATOR
i, S i ot ok i | oz me et o e (o e (o ol 2






